 EQ \b\lc\{(\a\al\hs3\vs3(x+y+z=3;x\s\up8(2)+y\s\up8(2)+z\s\up8(2)=3)) 
Из уравнения  EQ 1  выразим переменную  EQ y .

 EQ \b\lc\{(\a\al\hs3\vs3(y=3-x-z;x\s\up8(2)+y\s\up8(2)+z\s\up8(2)=3)) 
 EQ y=3-x-z 
 EQ y=-x-z+3 
Подставим вместо переменной  EQ y  найденное выражение.

 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;x\s\up8(2)+\b(-x-z+3)\s\up8(2)+z\s\up8(2)=3)) 
 EQ x\s\up8(2)+\b(-x-z+3)\s\up8(2)+z\s\up8(2)=3 
 EQ x\s\up8(2)+\b(x+z-3)\s\up8(2)+z\s\up8(2)=3 
 EQ x\s\up8(2)+\b(x\s\up8(2)+2xz+z\s\up8(2)-6x-6z+9)+z\s\up8(2)=3 
 EQ x\s\up8(2)+x\s\up8(2)+2xz+z\s\up8(2)-6x-6z+9+z\s\up8(2)=3 
 EQ 2x\s\up8(2)+2xz+2z\s\up8(2)-6x-6z+9=3 
 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;2x\s\up8(2)+2xz+2z\s\up8(2)-6x-6z+9=3)) 
 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;2x\s\up8(2)+2xz+2z\s\up8(2)-6x-6z+9-3=0)) 
 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;2x\s\up8(2)+2xz+2z\s\up8(2)-6x-6z+6=0)) 
 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;x\s\up8(2)+xz+z\s\up8(2)-3x-3z+3=0)) 
 EQ x\s\up8(2)+xz-3x+3-3z+z\s\up8(2)=0 
 EQ x\s\up8(2)+x\b(z-3)+3-3z+z\s\up8(2)=0 
 EQ \b(x+\b(\f(1;2)z-1,5))\s\up8(2)-\b(\f(1;2)z-1,5)\s\up8(2)+3-3z+z\s\up8(2)=0 
 EQ \b(x+\b(\f(1;2)z-1,5))\s\up8(2)+\b(-\b(0,25z\s\up8(2)-1,5z+2,25)+3-3z+z\s\up8(2))=0 
 EQ \b(x+\b(\f(1;2)z-1,5))\s\up8(2)+\b(-0,25z\s\up8(2)+1,5z-2,25+3-3z+z\s\up8(2))=0 
 EQ \b(x+\b(\f(1;2)z-1,5))\s\up8(2)+\b(0,75z\s\up8(2)-1,5z+0,75)=0 
 EQ \b(x+\b(\f(1;2)z-1,5))\s\up8(2)+\b(0,75z\s\up8(2)-0,75z2+0,75)=0 
 EQ \b(x+\b(\f(1;2)z-1,5))\s\up8(2)+\b(0,75\b(z-1)\s\up8(2)-0,75·1\s\up8(2)+0,75)=0 
 EQ \b(x+\b(\f(1;2)z-1,5))\s\up8(2)+\b(0,75\b(z-1)\s\up8(2)+0)=0 
 EQ \b(x+\b(\f(1;2)z-1,5))\s\up8(2)+0,75\b(z-1)\s\up8(2)=0 
 EQ \b(x+\f(1;2)z-1,5)\s\up8(2)+0,75\b(z-1)\s\up8(2)=0 
 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;\b(x+\f(1;2)z-1,5)\s\up8(2)+0,75\b(z-1)\s\up8(2)=0)) 
 EQ \b(x+\f(1;2)z-1,5)\s\up8(2)+0,75\b(z-1)\s\up8(2)=0 
 EQ \b\lc\{(\a\al\hs3\vs3(x+\f(1;2)z-1,5=0;z-1=0)) 
 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;\b\lc\{(\a\al\hs3\vs3(x+\f(1;2)z-1,5=0;z-1=0)))) 
Из уравнения  EQ 3  выразим переменную  EQ z .

 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;x+\f(1;2)z-1,5=0;z=1)) 
Подставим вместо переменной  EQ z  найденное выражение.

 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;x+\f(1;2)1-1,5=0;z=1)) 
 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;x+\f(1;2)-1,5=0;z=1)) 
 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;x-1=0;z=1)) 
Из уравнения  EQ 2  выразим переменную  EQ x .

 EQ \b\lc\{(\a\al\hs3\vs3(y=-x-z+3;x=1;z=1)) 
 EQ \b\lc\{(\a\al\hs3\vs3(y=-1-1+3;x=1;z=1)) 
 EQ \b\lc\{(\a\al\hs3\vs3(y=1;x=1;z=1)) 
